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The railway barrier shown below has been designed and manufactured
for a model railway system. The motor inside the post drives the barrier
up and down. The motor is the output to a 555 timer circuit.

MOTOR

There are two types of 555 timer. What
is the name of the 555 circuit shown

below?
POST BARRIER
- ‘/ CIRCUIT NAME:
o
Label the components on the circuit
diagram below (ATO G).
A: B: C:
D E: F
G: H
F

Ov
°

The relay is causing major problems because an important component is missing. Name the component
and draw its symbol in the correct position on the circuit diagram above.

COMPONENT NAME:

What is the function of the component ?
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A second version of the railway barrier has been
RARRIER manufactured. This is mechanically operated by a rotating

device.
PIVOT
What is the function of the pivot ?
®
\ Draw the mechanical device on the diagram

opposite.

BARRIER

STOP

Name the device and explain how it works.

NAME:

HOW IT WORKS:

What is the function of the barrier stop ?
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